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GENERAL INSTRUCTIONS TO THE EXAMINEES :

(1) vhemefl gduem 199 J99-u9 T AT Aard: ford |

Candidates must write first his / her Roll No. on the question paper

compulsorily.
2) |t A A FAEE R |
All the questions are compulsory.

(3) I Y T I &1 TS IT-YEehl | & ford |

Write the answer to each question in the given answer-book only.
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(4) T WAl o ATk @ue g, 37 9l o 3T T 11 g o |

For questions having more than one part, the answers to those parts are to
be written together in continuity.

(5) Y- & gt 9 S wuTaR § fopelt wepr Y Ffe/ 3T/ fatienyma g1 W
Te=Gt T o e I &1 HE1 A |
If there is any error / difference / contradiction in Hindi & English

versions of the question paper, the question of Hindi version should be
treated valid.

(6) Qg R HET 3T TAH T
A 1-11 1
E} 12-21 3
q 22-27 4
< 28-30 5
Section Q. Nos. Marks per
question
A 1-11 1
B 12-21 3
C 22-27 4
D 28-30 5

(7) 9 SHHT 27 § 30 | AT faehed 2 |

There are internal choices in Q. No. 27 to 30.
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Qs - A

SECTION - A

1. M ¥ i WIS ol Hatd qeiT e S HR Hid & ?

Which teeth are used in nibbling and cutting food ?

2. o el 5 3 g & o o 2 7

Which antibody is found in mother’s milk ?

3. e o ¢ fsreectia saweal & 4 fafeu |

Write the names of two Crystalline allotropes of carbon.

4. 1% & % ¢ ®Y (TR |

Write the two forms of dissipation of energy.

5. |mETRSTeh STfaehl o WIS g T Tk fafan |

Write any two main components of social forestry.

6. UTed o fohE 9T & gocl UTH hI STl 8 ?

Turmeric is obtained from which part of plant ?

7. TIEE ST 68 HEd § 7

What are endemic species ?
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8. WEhifeieh 310 (C) hl HHI B i AT W &I AT 7 1

Which disease is caused by deficiency of ascorbic acid (C) ?

9. T T TRl fohE AT o gRI fhaT T B 2 1

Which scientist classified the blood ?

10. FECHI Th T HH TR 7 1

Which blood group is universal donor ?

11. Toreft aTcts AR H 9T JaTfed hid T 3cqa Jqraehid &1 <hi feum Fra ohid o fopelt ot
ek 19w 1 IR o =418 | 1

Draw a labelled figure of any law used to find the direction of the produced
magnetic field during current flow in a conductor.

qls -

SECTION - B

12. foadfae s frd wed & 7 Tt wa sl foadfaes oo 1 @89 d vl
ST | 1+2=3

What is tectonic force ? Describe any one internal tectonic force in brief.

13, Srferri o forepra R =Ted 1fd= = ot €t s forelt 2 ymmor gr wum <hifse fos aeft
it <1 I Teh & YIS gHT g3 &I | 1+2=3

Which book is written by Charles Darwin on evolution of species ? Prove with
evidence that all living beings may have been originated from the same
ancestors.
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14, H.ug.ua. . &1 qu AW fen | fheal g smensti 9 3 gurg Sarsy e
AT I ATHAT hT B | 1+2=3

Write full name of P.S.L.V. Mention any two problems and their solutions
which an astronaut face.

15. (31) WS g1 | Tohdl SRR ohl <ITe 7 Hehdl & 7

(§) FSH gHeAT H IR STtk W Sie e H 31T [ohd TehR hl HFRAT ht TFehd
g7 1+2=3

(a) Which type of injury may be caused in road accident ?

(b)  Which type of help can be given by you for saving life of a road accident
victim ?

16. (37) TERHH BTSSR W & wAequr fafaw |
(&) Plesigad T qr ST 1ett 9 91 geref gfdl sl guTfad i g ?
(|) gfod SIeT H UTd ST ATl Th hiH o1 M fafae | 1+1+1=3
(a) Write down the symptoms of sub-mucous fibrosis disease.
(b) Which component of cold drinks effect teeth ?

(c) Name a worm that found in contaminated water.

17. (31) SAGI-eh AU b ATUR YT TR TehL0T - 3T ATTHAT bl ISR Tl
e |

(§) HI-3ITh g B4 aTei! Torel} wep et s i Sem e | 2+1=3

(a) Explain oxidation-reduction reaction with example on the basis of
electronic concept.

(b) Give any one example of chemical reaction occurring by bio-catalyst.
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18. STl BR&TU1 U YU o 71 fHgId & 7 STl T8I0 Ue YeeH o <his IR 39T fefigu |
1+2=3

What are the principles of water conservation and management ? Write any
four measures of water conservation and management.

19. Wt weaTY] fos =1 fUar fordt vt STt B 7 hifares foRtoni o & | gkl e
ERIER 1+2=3

Who 1s known as father of Indian Nuclear Science ? Mention his contribution
in the field of cosmic rays.

20. (1) fr=fafga ANfest & [UPAC 9w fafga
(1) CH3—C|H—C|H—CH3

Cl Br
(2) HC =C-CH,
(F) UfcraTsioes Td Tifes gT3giehie o Th-Tsh 3eTa fiRay | 2+1=3

(a) Write IUPAC names of the following compounds :
(1) CH;- C|H - C|H - CH,4
Cl Br
(2) HC =C-CH;4

(b) Write one example of each alicyclic and aromatic hydrocarbon.

21, Ig-freftef safie o g 7 wifies A 8§ Ww gF Tl okt e
T I a1 W A 7 ¢ o we Tty grn s -friefa smfite & feawrer w5
HHIARY | 1+1+1=3

What is non-biodegradable waste ? Which disease is caused by Bisphenol
chemical used in plastic products ? Explain disposal of non-biodegradable
waste by land fill method.
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g -4

SECTION - C

22. (37) qHI-JRk TP Ta HIAG R ?
(@) gea I e A A I aETe ?
(|) forT yohR o STt | hrer et Eifut & e Hict %H qevaE g g 7
(g) hIfieT hrel & UTH SHIfHfeh 3Tt o 3T & foh TTT 1 SURR B1AT 8 7

1+1+1+1=4

(a) Pearl-Oyster belongs to which phylum ?
(b) Which is the best pearl quality ?

(c) The less valuable pearl obtained from sepia are found in which type of
water ?

(d) Which disease is cured by the use of Carminic acid obtained from
Cochineal insect ?

23. HUSH o T & T i I T THFATST | 2+2=4

Explain Mendel’s law of segregation with example.

24, (3) TE T TN W A IgH H 1T 3 FTet Afires o1 m vd g7 feafaw |

(9) WYTERE! % Hled T &= T T Fi Tggqd il g ?
(|) Zn 91q 1 H,SO, & TR 31 THITRa ot ST | 1+1+2=4

(a) Write the name and formula of compound, used for plastering cracked
bones.

(b) Why burning sensation is felt on skin on the bite of honey bee ?

(c) Draw labelled diagram of reaction of Zn metal with H,SO,.
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25. (3) I iy 9’ Ry, R, T R, 1 G0ER &0fl 560 1 V diee shi Sl | Sl T
2 | ITaer 1 e Tfalie rd shife |

(§) 6 dlee o TaE da d 30 3T i ATEshE i Ty HUSH! Bl SSH
1 52 e RT YaTfed sl ATt & | usett B Icae S57 o1 IH S1q HIfT | 2 +2 =4

(a) Three resistances of R, R, and R; are connected in series combination in

an electric circuit with a battery of V volt. Find the equivalent resistance
of the circuit.

(b) A 6 volt storage cell is connected to a nichrome resistance coil of 30 ohm
so that current flows for one hour. Calculate the heat generated in
resistance coil.

26. (31) T o%q WA F W W a8 S g0 & foreenfua gt 2 | afg 7 foem
ArEEd H1 L, g I fop siet gra foren o el s 7 |

(9) T Freiae Ve (3fe) et i S T iR | 242-4

(a) When a force F is applied to an object it is displaced by distance S. If force
1s working perpendicular to displacement, then prove that the work done by
the force is zero.

(b) Determine the number of joules in one kilowatt hour (unit).

27. STh{deh AT o ARG Sred qe Tufavard a STHal g se-fafawar fea
YT T Bicl & 7 FHSAST | 4

YT

o -fafaedn & 7aw o ST ST Had quT HHTeh, dTEhideh T8 ST
Hawd JHATRT | 2+2=4

How is biodiversity affected by over-exploitation of natural resources and
superstition and ignorance ? Explain.

OR

Explain economic value and social, cultural and spiritual value under
importance of biodiversity.
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SECTION -D

28. (31) Y@ ‘HHd T o g o1 am fefee |
(§) TS a7 o Toheal < fgctaes ifites 3T <At §L=HT <1 9 HifSTu |

(F) Ae TS G5 T TR o S8 | 1+2+2=5

YT

(31) W@ UM grel fo g o1 A ffeu |

(§) H1e1 54 a4 o feral e fediaes Aifttes 37T bl Gt 51 9oi9 hifSu |

(") W HIGT S T hl TR 3 S8 | 1+2+2=5
(a) Write the name of main ‘human male sex hormone’.

(b) Describe structure of any two secondary reproductive organs of male
reproductive system.

(c) Draw a labelled diagram of human male reproductive system.
OR
(a) Write the name of main ‘human female sex hormone’.

(b) Describe structure of any two secondary reproductive organs of female
reproductive system.

(c) Draw a labelled diagram of human female reproductive system.

29. (37) TRt STEET & 3719 o7 T0erd & ?
(&) 3Tmad "ol w1 fohae scAtent § afieha feparm o @ 7 9w fafam |
(@) fr=fafad awi S ] SRR % Sgd U T H Saferd hifg :

Rb, Cs, Li, Na, K 1+2+2=5
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(37) gied GaISTehdT ¥ 3179 =& THEd & 7

(&) Imyfes Tad aref § 3qerg <t feufa =t auemsy |
(@) fFrfefaa awi ®1 3 Tt & ged 5T hH | safed Hifu

Na, Cs, Li, Rb, K 1+2+2=5
(a) What do you understand by oxidation state ?
(b) In how many blocks the perioclic table is classified ? Write names.
(c) Arrange the following elements in the increasing order of atomic size :

Rb, Cs, Li, Na, K

OR

(a) What do you understand by variable valency ?
(b) Explain the positon of metalloids in modern periodic table.

(c) Arrange the following elements in the decreasing order of ionization
enthalpy :

Na, Cs, Li, Rb, K

30. 3T9adH ¥ 3TUehT 7 ST 8 7 hid o &I shl HEEAl o TehrsT fohlur o 3Tqed
! GATEY | Ueh fora 37adel <Ol & H1H 390 Td Gshdl s o SiE W@ 3;
fcrferear <6t fefe w1 fertor fomt smTsY | 142+2=5

YT

T % foehe forrg wdl X formg & 31 o wea & 2 el gfy Qo § ¢ sment famw
4 fopan a1 R 2 el Y € & e ot Awiferd fopwr e amed | 1+2+2=5
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What do you mean by refraction ? Explain the refraction of light rays with the
help of a glass slab. An object is placed between infinity and centre of
curvature in front of a concave mirror; draw a ray diagram for image
formation.

OR

What do you understand by near point and far point of the eye ? What is
hypermetropia or long sightedness ? How this defect is corrected ? Draw a
labelled ray diagram of correction for hypermetropic eye.
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